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Topic:- General Knowledge and Logical Knowledge

1) Study the instructions carefully and find the value for the following:
Here;

+ => Multiply
* => Division
/ => Addition
- =>Equal to
==>Minus /

= &1 grauTiyd® sreaaa & 3R fFafrfad & foe ae @
Tg;

+ => Ul

* => YAT

/ => "t

- => P WS

= =>¥era

(18/2=10)*2+4/10

1. 10

2.28

3.20

4. 30

Correct Answer :-

« 30

2) River that flows in the eastern part of Madhya Pradesh and drains into Bay of Bengal near Orissa

is / TS WGRT & Ydf &1 § 98 arail ] o IST91 & U ael 31 @rst # frerdi @
1. Denwa / G1dT



2. Shipra / R
3. Chambal / ddd

4, Mahanadi / He qé'

Correct Answer :-

« Mahanadi / A8Ma]

3) Provision of ‘Employment to All' comes under / TP AR’ BT UG 3'\‘@7 S 3rrar %
1. Directive Principles of State Policy / XIsd & it FE® da

2. Industrial Policy / 3N ifa

3. Fundamental Rights / HcIHd HYBR

4. Labour Laws / 48 Tl CaGG]

Correct Answer :-

 Directive Principles of State Policy / XIvg & Hifd A da

4) Which among the following rivers flows into the Bay of Bengal? / o qﬁfﬁ Hq B q—Cﬂ.
I Pt WIST H g5t 82

1. Narmada / '_‘FTET
2. Netravati / Fadl

3. Brahmaputra / SSeTqA

4. None of these / 3?3[ q aﬁé ol

Correct Answer :-

e Brahmaputra / STgT4A

5) Which glacier is the source of the Brahmaputra river? /aﬁﬂ B3l %TF'F:{ EICRE] T'Rﬁ T Tl %?
1. Gangotri Glacier / T fieHe

2. Siachen Glacier / RIATRA fgH-g

3. Angsi Glacier / 3T} fgwe

4. Kafni Glacier / %1 [gATG

Correct Answer :-

» Angsi Glacier / T fgrig



6) Which of the following is the mausoleum of Muhammad Adil Shah of the Adil Shahi dynasty? /

e & i enfee ATEt a2 & WigHIG ST W BT HHaRT 82
1. Juma Masjid / AT ARG

2. Gol Gumbaz / e T[&sl

3. Qutub Minar / s HIFR

4, Taj Mahal / TSl Hgdl

Correct Answer :-

e Gol Gumbaz / WW

7) is a widely practised form of folk music in southern Malwa which came through the

Marathas. / , SI&I0T ATeraT A TIPS U A TRT-SSTAT SHaTdl dieaiid g, St ATl
BB AT AT

1. Chaiti / Tl
2. Garba / TRdT
3. Lavani / ATd=1

4. Stobha / THT

Correct Answer :-

« Lavani / Ta4r
8) Panna in Madhya Pradesh is associated with / H& FI%QT =1 fe A dfta %:

1. Mica / HIg®PT

2. Manganese / 'El":ﬂ\_)‘f
3. Diamond / R

4. Copper / arean
Correct Answer :-

« Diamond / BRI

9) If KARTIK is coded LCUXNQ, then how is VINAYAKA coded? / Of¢ KARTIK &Y LCUXNQ &
HIfSd fHaT STaT 8, df VINAYAKA &1 8 HifSd foaar s

1. WIQEDQHI
2. WKQECGRI
3. WKQEDGRI

4. WKQFDGRI



Correct Answer :-
« WKQEDGRI

10) The English East India Company was abolished in the year . / 3iOSH i‘&'gi%mam'—ﬁaﬁ
Gl H qaTe v fear mar

1. 1856
2. 1858
3. 1857

4. 1860

Correct Answer :-

11) The term of President of India is / WRd & ?Tg‘Tﬁl' H1 BB &
1. 5years/5 CL
2. 4years / 4 Gl
3.3 years/3 CL

4.7 years / 79y

Correct Answer :-
e Syears/5 Gl

12) The State which accounts for more than 90 per cent of total rubber production in India is / HIRd

H IS & A SATG BT 90 Wia=Td TS forey 7oa o giar 82
1. Karnataka / Il
2. Tamil Nadu / AT

3. Andhra Pradesh / 3%/ EI?{QT
4. Kerala / Hd

Correct Answer :-

« Kerala / Bd

13) Who was referred to as the “Ambassador of Hindu-Muslim Unity” by Sarojini Naidu? /W\_ﬂ:ﬁ

A1gg A f6 i g-gaferm Towar &1 Teiga” H-1 T AT
1. Muhammad Ali Jinnah / Ingm_d 37ett fora



2. Shaukat Ali / Tt d el

3. Abdul Ghaffar Khan / 3egc ITHRLIR T

4. Maulana Azad / AT NI

Correct Answer :-

e Muhammad Ali Jinnah / 'm_ﬁlm_tf NIRSE

14) Who was the first Indian woman president of Indian National Congress? / YRA ?T@'q AL

o1 gt WRdH Afgar srwaar o A2
1. Vijayalakshmi Pandit / fasraaie dfga
2. Sarojini Naidu / RIS g

3. Nellie Sengupta / et @?‘IEH

4, Annie Besant / Fﬁé@l?

Correct Answer :-

« Sarojini Naidu / TRISHT AAg

15) In a single throw of a fair dice, what is the probability of getting an even number greater than

three? / U o0& UTH & U IR B+ WX, d1F A TSI T JH HBAT UTW g1 1 T UTiipdT &2

1
3
1.
1
6
2.
1
?
3. ©
2
3
4.

Correct Answer :-

| =

16) Find the odd one out / Th faug Td aﬂﬁnz:
1. Door / &3@TSl



2. Window / @W
3. Gate / gRR

4. Table / B9

Correct Answer :-

e Table/ 'BITTT

17) Find the odd one out: /Wﬁ'ﬂ'ﬁ NIGH aﬂﬁmz:
1. In and Out / (&R TYT IR

2. Black and White / STaT AT g

3. High and Low /S ayr ==

4. Weapons and Arms / 3I¥d dYT R¥d

Correct Answer :-

e Weapons and Arms / 3¥d dYT Xd

18) Find the odd combination of letters and numbers from among the following: fFrafafaada
3M&RI Td Tl o7 faud JYieH J1d B |

i. 1293520 ii. 1293502 iii. 1293520 iv. 1293520

19) In a certain code language, | am hungry means Ching Ling Lu; | eat fruits means Ling Li Mon; | am
thirsty means Lu Su Ling. Which is the word for Am in that code language? / Tdh W BIS ‘J-I'I'ElT'l}I, lam

hungry BT 3 f Ching Ling Lu; I eat fruits T 3{ f Ling Li Mon <I)UT I am thirsty 1 3% Lu su Ling @T‘IT %I
Y BIS U H Am P fore {5 TIeg &1 T fvar an 82

1. Ling
2. Ching
3. Li

4. Lu

Correct Answer :-



20) In a certain code language, ise sep vaz means drink hot coffee, ezy vaz kam means hot air balloon,
seg ezy poz means blow cold air. Which is the word for balloon in that code language? / Th WTH 33-1'3
HTuT ﬁ, ise sep vaz BT 3 & drink hot coffee; ezy vaz kam P13 ¥ hot air balloon TYUT seg ezy poz BT 3l )]
blow cold air 81T & | 9 B8 HTIT H balloon F foIT 5y Treg o1 3wTe fooam T B2

1. kam
2. poz
3. sep

4. ezy

Correct Answer :-
o kam

21) If THIRST is coded UIISTU, then how is LAMENT coded? / Gf¢ THIRST @Y usTu | Sifgd far

SITdT 8, a1 LAMENT B $J Difsd forar S
1. SMDLZK
2. KZLDMS
3. MANTLE

4. MBNFOU

Correct Answer :-
 MBNFOU

22) If DUTCH is coded BTTDJ, then how is CROWN coded? / Tfe DUTCH &1 BTTD) | Pifed fobar SIrdr

g, df crRown B S PIfed forar s

1. AQOXP
2. AQoyp
3. APOXP

4. AQPXP

Correct Answer :-

23) was honoured with the Best Actor Award at the 64" National Film Awards in 2017? /2017 ﬁ

649 Tt fres ReY A B YA SAFHAT PR A T fobam T o



1. Anil Kapoor/xﬂﬁlﬁw
2. Manoj Joshi /ﬂ:ﬁ\_rfﬁh"x’ﬁ
3. Aamir Khan / 3R @M
4. Akshay Kumar / & $HR

Correct Answer :-

 Akshay Kumar / H&d $HR

24) Complete the series choosing the missing letter/s: / Ul SER/HERT B EGEZELERI C| Ul PIfoTC:
AZ,CX,EV,GT,

1. IR

2. QK

3. 0P

4. MN

Correct Answer :-

25) Complete the series choosing the missing number: / Tt ST TADR Yl Ea| T PIfTC:
3,7,7,13,11,19,15,

1.29

2.25

3.23

4. 30

Correct Answer :-

26) Famous male Hindi play back singer, music composer, actor and lyrist born in
Khandwa was / TUsdl # 0 URIs 0 o 3=t uryamas, faer, dfaer, sifiq, oiv
domare® 9

1. Varsha Verman / 981 gHT

2. Deepak Chusala / dlues e
3. Salim Khan / Jeitq &

4. Kishore Kumar / fh=IR PHR



Correct Answer :-

« Kishore Kumar / fh=IR PHR

27) Annie Besant belonged to the / THl dd=< J ddfta A
1. Arya Samaj / 3T AT

2. Prarthana Samaj / PIRTIR

3. Ghadar Party / TTa} aref
4. Theosophical Society / Ao d ATl

Correct Answer :-

o Theosophical Society / Ww

28) CANCELLED

Complete the series choosing the missing number: / Gt USIT oD YLl Ca| T DI
2,5,8,11,14,17,

1.25

2.24

3.36

4. 32

Correct Answer :

29) CANCELLED

The Omkareshwar multipurpose project is located at / PRI agv%'aﬂu CIRUIEE| H'BTW R

1. Vidisha / alaQII
2. Sidhi / Fie

3. Dhar / YR

4, Indore / 3@?

Correct Answer :-

e Indore/ s?ﬁT



30) As per census 2011, the most densely populated Union Territory in Indiais / 2011 4|
ST & R, URd § Jaifie gt smard) arer $es iia uewr &:

1. Lakshadweep/?f&l—sa'q

2. Pondicherry / Qﬁﬁ

3. NCT of Delhi / JT$Ta IroTeTt & feeett
4. Sikkim / RifepH

Correct Answer :-

« NCT of Delhi / 51T et & feeeht

31) The series given below contains a sequence of numbers. Identify the incorrect combination: / LiE] E.Pf

TS YEdn |, G=I3fl #1 TP HH IR 8 | Tad Haiel Ugar-ie:

1,8,3,6,5,4,6
1.6
2.3
3.8

4.4

Correct Answer :-

32) Harshavardhana was defeatedby /g¥asH__ gRTwRIford gU 91
1. Taila I / €T |1

2. Jayasingha / SaRig

3. Pulakesin I /gﬁﬁ:{ |

4. Pulakesin II /ﬂf’lﬁ:{ [

Correct Answer :-

 Pulakesin I / Qﬂﬁq [

33) The first Indian to be elected as the President of UN General Assembly was /

HYHR MY HETHHT & A& S FU H g &1 1dd Uget URdg A

1. S. Radhakrishnan / T XTYTH T
2. Acharya Kripalani / i Wq?n:ﬂ



3. V.K. Krishna Menon / .o %1 B
4. Vijayalakshmi Pandit / fasrraedt dfed

Correct Answer :-

« Vijayalakshmi Pandit / fasraaet dfsa

34) In the following list of numerals,
7897653428972459297647
Which figures have an equal frequency? /

3l @t o @ g,
7897653428972459297647
b= sl Ft smgfr w82
1.3,7,5

2.8,6,5

3.2,4,5

4.2,5,3

Correct Answer :-

e 86,5
35) Article 368 of the Indian Constitution deals with . | HRAIT \iAe™ &7 =g
368 T Tefd g1

1. Emergency provisions / R INIGCARIR R CHIE]

2. Amending Procedure / TNy Ufesar

3. Right to primary Education / T4 fR1ef &1 fddR
4. Right to Information / T I fYBR

Correct Answer :-

« Amending Procedure / BSEICERIE)

36) Select the option that is true about the Statements and Conclusions given:

Statements:
Some dopes are bricks
No trucks are dopes

Conclusions:
I. No bricks are dopes
II. Some trucks are dopes



1 39 fasheq &1 T9-1 ST wife fdT 1T HY=T 3R fAepul & IR A 31 3:
BY:

POUZEE

o3 WP SuEi e

o

I 31E e shuaie

I.PSCH ST S

1. neither conclusion I nor conclusion II follows / 7 B} fFSh I 3R 71 &1 F15HY 11 3FTRT Hd &
2. both conclusion I and II follows / FSH I 3R 11 G SFTERTT & &

3. only conclusion II follows / Fad fASHY 11 TRV BT §

4. only conclusion I follows / Had 5HY [ TRV HT &

Correct Answer :-

« neither conclusion I nor conclusion II follows / 7 81 F5mY 1 3R 7 €} sy 11 S{FERUT A G

37) Select the option that is true about the Statements and Conclusions given:

Statements:
All garments are towels
No towel is a shirt

Conclusions:
I. No garments are shirts
I1. Some shirts are garments

1 39 fapeu &1 79 FIE Sife e e Hu=) iR eyl & IR & Idl 8:
B

et ava difee §

HIS dferan wfie T R

frep:

1. DY aed S TE @

II. TO HUIS A &

1. neither conclusion I nor conclusion II follows / 7 &1 f5HY 1 3R 7 & FAshY 11 SR 1 §
2. both conclusion I and II follows / ISP 1 3R 11 ST 3TERUI B4 &

3. only conclusion II follows / Had fSHY 11 TRV HRT §

4. only conclusion I follows / A T5HY I SFIERUN FXal &

Correct Answer :-



« only conclusion I follows / Pad ey 1 STV pXdl 8

38) Select the option that is true about the Statements and Conclusions given:

Statements:
Some tables are chairs
Some tables are cots

Conclusions:
I. Some chairs are cots
II1. All tables are either chairs or cots

/ 39 faweu &1 9u-1 Fifore Wife g e wy=T ok fAewul & ok § wdt &
DY

$o A PRIGT g

PO AT EIE

e

I. 3o pRial Qe §

11 Wt O a1 9 HRiaT § a1 @me §

1. neither conclusion I nor conclusion II follows / 7 &1 f5HY 1 3R 7 & FAsHY 11 SR 1 §
2. both conclusion I and II follows / fFSF 1 3R 11 ST 3ERUI B4 &

3. only conclusion II follows / BT fSHY 11 TR HRT §

4. only conclusion I follows / A T5HY I S{TERUN HXal &

Correct Answer :-

 neither conclusion I nor conclusion II follows / = éjf fAspy 1 3R A éT fAspy 11 STTART I %

39) Select the option that is true about the Statements and Conclusions given:

Statements:
All insects are ants
All ants are bears

Conclusions:
I. No bear is an insect
I1. Some bears are ants /

9 fawer &1 T Fifrg wifes e e Hy= ik sl & o & w8l &
BY:

at Pe Hifeai &

gt fifear wre &

e



I. BIg HI Pic T &

II. $3 HIq Sfear &

1. neither conclusion I nor conclusion II follows / = éjf ﬁWﬁf I GﬁT Cl Eﬁ ﬁﬁh_ﬁ IT 3T GG %
2. both conclusion I and II follows / F5HY 1 3R 11 gH ST FRA G

3. only conclusion II follows / Had B 11 S{FHRUT pdl g

4. only conclusion I follows / $Had FThY [ ST hXdl g

Correct Answer :-

« only conclusion II follows / Had fSHY 11 SFTIRUT Hl §

40) Complete the series choosing the missing number: / &I ST TP &l Ca| T DI
6,12,20,30,

1.50

2.40

3. 46

4. 42

Correct Answer :-

Topic:- Mental Ability and Mental Aptitude

1) In the sequence shown below, which figure comes next? / A<l
fer 3% &F #. 91T I e T 3mE



| &

§ | &
i i |
N it -
| 2% !
| N/
1

S

Correct Answer :-

2) Ifthe following two squares shown below overlap, which one of

the following options is formed? . aie = ar ar wigemfa
gid £t faFa & & #lF 91w faseq a1 ar &7

* s

. -
——
v e
s 1
4.’.—i-——c
Y
1.
+
Al
L S E
¥ ¥



) In the sequence shown below, which fignre comes next? / /el
e I A #, 3TN HIHIA FHier o1 3R

c e 11 ?
3

13

31
3.
) el

Correct Answer :-

4) Two pipes can fill a tank in 5 hrs and 20 hrs, respectively. A third pipe can empty the tank in 10
hrs. If all the three pipes are opened simultaneously, then, how long will it take for the tank to get



filled? / Q1 UTSY Ueh TP I PHRT: 5 U 3 20 4 H W TP d & | Teh IART UT3Y 59 S &1 10 ¥
H @rell B Jpar g1 afe 41 urgy vehary @id fou o, af ¥ w=RA § fran v &

1. 6 hrs 40 min / 6 °¢ 40 .
2. 4 hrs 20 min / 4 T¢ 20 3.
3. 4 hrs 30 min / 4 T¢ 30 .

4, 5hrs20min/5'ﬂ'%20ﬁ.

Correct Answer :-

e 6hrs 40 min /6 G¢ 40 T,

5) Amita is a mother of four children. If all her children were born in consecutive leap years and if
the average of all the four children was 10 years, then find the age of the eldest child? / ST 4 g
Ft AT 81 e ITP IRI T=d AAR Ay a9l & UeT gU § ofR Iud 9t o= &1 s 3y 10 I
3, 1l 9ad 93 9 B 3y fpat 82

1. 14 years / 14 99
2. 15 years / 15T9
3. 12 years / 1299

4. 16 years / 16 q9

Correct Answer :-
e l6years/ 16 a9

6) A man is standing on a railway platform, which is 180 m long. If he finds that a train crosses the
platform in 20 sec, but crosses him in 8 sec, what is the length of the train? / Y& Hfed TP 180 .
T ¥ WEWid IR WST ¢ | 98 ¢@dT g fb Ta YS! WehiH &1 20 9. 7 iR IA 8 A H UR
1 g, A1 ¢ DI AHTS [pail o2

1. 80 m / 80HI.
2. 100 m / 1004,
3. 150 m/ 1504,

4. 120 m/ 1209,

Correct Answer :-
e 120m/ 1209,

7) 7 students can finish 7 projects in 7 days. How much time would 1 student take to finish 1 project?

/ard et 7 Miviee &t 7 & & g1 #ed &1 1 Wiotae &1 1 et fvaq v d wr s
1. 1day/1feq



2. 14 days / 14 A
3. 12 days / 12 fd

4.7 days /7 fad

Correct Answer :-

e 7days/7faA

8) Sita and Gita have their ages in the ratio of 3:2. After 5 years, their ages will be in the ratio of 8:7.
Find the present age of Gita. / HiaT 31X T BT T BT 3IUTH 3:2 81 5 AT TG IABI 3G BT
3UTd 8:7 B SiraT 3 | ar &t adwr 3y forat 82

1.4
2.2
3.15

4.8

Correct Answer :-

9) A school operates 11 sections of equal size. Earlier it operated 13 sections but after admitting 4
new students, the administration decided to redistribute the sections. So the number of sections was
reduced but with equal number of students in each section. If each section has 24 students now, what

is the total number of students in the school? / Wﬁ@ﬂﬁq 11 Wﬁ‘m‘ﬁﬁmiﬁmél diq
o 3% 13 faumT &% oy oma & Afr 4 3R = & wawr & 91e y=mH fAumn & gadeiieor &1
e Har ¢ | TRUTHESY Ud® AN # g 91 @ 9 @3d gY faHT 3t S ger
STt @ 1 afe o vl faumT § 24 faeneff , ot ey A faeanf¥ai 9t o e frast 32

1. 260
2. 250
3. 264

4. 134

Correct Answer :-

. 264

10) If a-4b =20 and 6b + 5a =22, then a - b=? /Tf a - 4b = 20 3R 6b + 5a = 22, dla - b=?
1. 11

2. 14

3.5



4. 30

Correct Answer :-

11) A rectangular park, 70 m x 30 m has two roads, which are 5 m wide, one parallel to its length
and the other to its breadth. How much will it cost to gravel the roads at Rs. 4 per sq m? / 70x 30

HieX B HIY 17 U SMAATPR UTh A SUP] aHTs 3R ASTS & IR 5 Hiex TIS] 2 IS&
1S Y §1 4 /At Hie? 1 &R A 3UWR Jorl fasr & fore feaq sual &t smawgeddr gt

1. Rs. 475 /475 %F.
2. Rs. 1,900/ 1900 ¥=.
3. Rs. 1,425/ 1425 %.

4. Rs. 950/ 950 ¥=.

Correct Answer :-

e Rs. 1,900/ 1900 ¥=.

12) A number when divided by the sum of 636 and 364 gives quotient equal to their difference and
remainder as 6. What is the number? / U J&HT B ST 636 3R 364 & TN & fayTiora far srar g
o YT RO d 3 W13l & SR & aRTaR 3NR AT 6 MTdT 8 | Tg 6T .1 82

1. 272006
2. 27206
3. 1272

4. 12706

Correct Answer :-
e« 272006

13) A cloth merchant, on selling 27 metres of cloth, obtains a profit equal to the selling price of 9
metres of the same cloth. Find his profit percentage. / ¥ ®dUST TURY 27 Hiex DUST SBT3
FUS & 9 Hiex & fIrd goa & SRIER a1H HHTT 8 | a1 Uia=ra 91d &9 |

1. 50%

2. 60%

3. None of the above / dqf:idrl oy CI’;Isr BEl

4. 40%

Correct Answer :-

e 50%



14) A patsman makes a score of 80 runs in the 15™ inning and thus increases his average by 4. Find

his average after 15™ inning. / U SeaiaTel gRT 1541 U A 80 I 91 T ITST 3N 4 3P T¢
STt 21 1591 U} & q1¢ DT 3 J1d B

1.42
2.24
3. 136

4. 112

Correct Answer :-
e 24

15) In a school, 40 % of students are boys. If the total number of students in the school is 960, find

out the number of girl students in the class? / T faemea § 40% m % qﬁ faemeg A ﬁﬁ'lﬁhﬁ
B FA T-AT 960 ¢ Y Faenaa & asfFal &1 T fFa-i 82

1. 728
2. 478
3. 400

4. 576

Correct Answer :-
e 576

16) A can do a work in 15 days and B can do the work in 10 days. How many days will take to
complete the work, if they do simultaneously? / A et s ot 15 e o YT hdl 8 YT B I
1 B 10 fT & 1 Hvar g1 afe 3 ST THary w18 B¢ df B fHan &7 3 g1 8 s

1. 6 days / 6 fa
2. 8 days /8 f&
3.9 days /9 fad

4.5 days /5 fad

Correct Answer :-
e 6days/6 fe

17) Lila and Kumud are older than Rashid and Nalin. Yash is younger than Rashid, but older than
Nalin. Mukul is younger than Lila, but older than Kumud. Arrange the group in increasing order of



age. / QT 3R $Hg, MG 3R AR A 93 7| 931, A< & Bier § Afp= Afem A g1 g4,
T A BieT 8 AP TS | T8T 2| 59 THE B 9gdl g4l 3 & hH A oIaiRYd S|

1. Nalin, Mukul, Rashid, Kumud, Yash, Lila / ¢, 9 d, ARG, $Ya, T, Aiall

2. Nalin, Yash, Rashid, Kumud, Mukul, Lila / Ffei, =1, 1€, $Yc, GHd, lal

3. Lila, Mukul, Kumud, Rashid, Yash, Nalin / &l1ell, Y d, $Yg, J11R1e, I, e

4. Lila, Yash, Kumud, Rashid, Mukul, Nalin / ?ﬁ?ﬂ, gxl, $Hq, ?IIQIE, Hpd, afed

Correct Answer :-

« Nalin, Yash, Rashid, Kumud, Mukul, Lila / e, I, J11R1e, $4e, Gpd, oflell

18) The average price of 3 items is Rs. 300. If their prices are in the ratio 3 : 5 : 7; find the price of
the costliest item. / 1T G 3M BT T T 300 . 81 S STh Ged BT AJUIA 3 : 5: 7 B, @t
U T YEIHT a¥g BT G [T D1 |

1. 100
2.75
3. 140

4. 60

Correct Answer :-
e 140

19) The average monthly expenditure of a family during the first 6 months is Rs.51,000 and the
average monthly during the last 6 months of the year is Rs.45,000. Find the average monthly

expenditure of the family for the whole year? / T gfRaR &1 3 Tdqi & Wﬁ 6 'FI'E»Fﬁ # 51000
. 3R MR 6 7 45000 . 31 39 uf¥aR gRT Gyuf a¥f &1 3fvad @ faa=im ghm?

1. Rs.47,000 / 47,000 ¥=.
2. Rs.47,500 / 47,500 ¥=.
3. Rs.48,000 / 48,000 ¥=.

4. Rs.49,000 / 49,000 ¥=.

Correct Answer :-
e Rs.48,000 /48,000 .

20) A watch was bought for Rs. 530 and sold at 4% gain. Find its selling price. / T ‘Elﬁ 530 . H

TIGHR 4% ATY W 99 &1 Y | 591 faspa gea aarait|
1. Rs. 551.20/551.20 ¥,

2. Rs. 451.20/451.20 3.



3. None of the above / dqﬁiok‘l R CIER

4. Rs. 351.20/351.20 %,

Correct Answer :-

e Rs.551.20/551.20 ¥.

21) The cost of an article is Rs. 9,180 after getting 15 % discount. What is the original price in

rupees? / fH} TG BT T 15% B Fe & 916 9180 . 3| IUA T 3BT IRATAD Yo T 8?2
1. Rs. 10,800 / 10,800 ¥,
2. Rs. 10,900 / 10,900 .
3. Rs. 10,700 / 10,700 .

4. Rs. 10,850/ 10, 850 ¥=.

Correct Answer :-
e Rs. 10,800/ 10,800 3=,

22) Ram gives Rs. 10,000 to his son Shyam, and asks him to distribute Rs. 3,425 each among his two

sisters. How much money is left with Shyam? / ITH A YA YH G| 10,000 IUY ém Eﬁ:ﬁ m
DI 3425 UL ¢ DI ST TWH & TN fPa =, 732

1. Rs. 3,250 /3250 ¥.
2. Rs. 3,200 /3200 ¥=.
3. Rs. 3,050 /3050 ¥=.

4. Rs. 3,150/ 3150 ¥=.

Correct Answer :-
e Rs.3,150/3150 3.

23) Twelve women can complete a piece of work by working 10 hrs a day for 20 days. How many
days of 15 hrs each would 16 men require to complete the same task, if 4 women do as much work as

3 men? / AT 3R ufAfe 10 62 & Hdb B S0 &1 20 f37 W R w2 o<t &1 3 4 3i7d 3
&naﬁlﬁ%wmm?ﬁ%,a’rm et It w1 &t ufafed 15 U9 w1 Fdb fhaq A o
R B U2

1.8.5 days /8.5 fad
2.7.5 days /7.5 &
3.12.5 days / 12.5 &

4. 10 days / 10 f&1

Correct Answer :-



e 7.5days/7.5 e

24) Two numbers are in the ratio 7 : 8. If 3 is added to each of the two numbers and their
ratio becomes 8 : 9; the numbers are: / & JWT3AT HT 3JUTT 7:8 81 TfS 39 I =3 A 3
Sits faar I @Y 39T ST 8:9 B STan 8, "=y giifi:

1. 16,18
2.14,16
3.21,24

4. 24,27

Correct Answer :-

25) Which one of the following four addresses is NOT EXACTLY same as the one given

below? / FEfRA M IR @ IR AR @ F e TR PTATe & 22
Ken Burns,

Poligono Clot de Moja,

C/Ull de Liebre No. 7

08734 Olérdola, (Moja), Barcelona, Spain

(i) Ken Burns,
Poligono Clot de Moja,
C/VUll de Llebre No. 7

08734 Olérdola, (Moja), Barcelona, Spain

(ii) Ken Burns,
Poligono Clot de Moja,
C/Ull de Llebre No. 7

08734 Olérdola, (Moja), Barcelona, Spain

(iii) Ken Burns,
Poligono Clot de Moja,
C/Ull de Llebre No. 7

08734 Olérdola, (Moja), Barcelona, Spain



(iv) Ken Burns,
Pollgono Clot de Moja,
C/Ull de Llebre No. 7

08734 Olérdola, (Moja), Barcelona, Spain

4. iii

Correct Answer :-

e iv

26) CANCELLED

Find the average. / 3Nq Td 2
65, 66, 67, 68,67 & 7

1. 67

2.58

3.68

4. 64

Correct Answer :-

27) If 10% of X = 20% of Y, then X:Y = ? / Tf¢ X BT 10% = Y HT 20%, T9 X:Y =?
1.3:2
2.2:3
3.1:2

4,2:1

Correct Answer :-

28) If the product of two numbers is 120 and the sum of their squares is 289, then the

sum of the numbers will be: / uﬁa‘rm&ﬁmgﬂm 120 % 3R ISP T DT INT 289 %,



a1 I G-I BT AT I:
1. 40
2.23
3.26

4. 35

Correct Answer :-
e 23

29) In 1985, the profit for a certain product was 25 %. In the next 3 years, the cost price
increases by 10 %, 10 %, and 20 %; also the sales price increases by 15 %, 10 %, and 20
%. What is the profit percentage now? (Approximately) / 1985 ﬁ', TP 3diq UX 1Y 25%
21 3rTa i 9wl #, 9y arTa 4o F 10%,10% 3R 20% @ g gt & ik v e & W
15%, 10% 3R 20% @1 gfx gl 31 Tda & A1H HT Ufa=Ia T 82 (TTUT)

1.273 %
2.324%
3.357%

4.30.7 %

Correct Answer :-

e 30.7%

30) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: /Tﬂ'%liﬂ"lgmﬁ, a&ﬁaﬁ?awaﬁmwmﬁ%aél Wwﬁmmﬁq

i. tranil209itnar
ii. tranil509itnar
iii. trani1209itnar

iv. trani1209itnar

4. iii

Correct Answer :-



Topic:- Science and Simple Arithmetic

1)
AT +4 - 5mM+3 TIm 44 = 51m+3
2 ® 5 2 X35 ﬁ
'I‘hE‘:Eluecnf 105m+3x22m =— Jir 105m+3x22m a"l—l— %-'
1.0
2.2
3.10
4.1

Correct Answer :-

2)

AB is a chord of a circle with center at O and BOC is a diameter. [f OD 1 AB such that OD =
6cm, then AC = ./ AB. ¥ O aref acd &1 ofrar § 3T BOC v =0m& 2] 97 OD L

AB 0% § & OD =681, S AC= :
1. 12cm
2. 15cm
3. 18cm
4. 6cm

Correct Answer :-

e 12cm

3)

Find the value of "x" satisfving the equation % + I x:= 7./ |HERTOT i—r— ;—E— x:= 7 @ Hdse
T aer X' & A I IO |

(45 )

1. 24

2.10

3.12

4.7

Correct Answer :-



4)
In the given figure, straight lines AB and CD are intersected at O.

If £AOC + £BOD = 130°, then £AOD = -/ Gu aw g A, delt [@ AB AR CD fig
O W uioeafad s §1 9§ 2AOC +2BOD = 130°, @ £AOD = :

D.
A :
0.
C ~.B,
-
1. 651
|
2. 1250
-
3. 1050
-
4. 1150

Correct Answer :-

5)
((24* + 7)) =
1. 125
2. 15625
3. 625
4. 3125

Correct Answer :-

e 15625

6) Deforestation leads to:/ Fﬁ?ﬂ?ﬁ R '&ﬁ'cﬁ %
1. Increase in oxygen / NEMIEE| ﬁq@

2. Increase in carbon dioxide / GARE KIENIESIES i q@




3. Increase in nitrogen / ?lga\_ﬂ:f | Q'@

4. Decrease in carbon dioxide / CAGE KIENIESIES p=icopei

Correct Answer :-

e Increase in carbon dioxide / GAGE KIENIESIES i qf&

7) A paper is in the form of a rectangle ABCD in which AB =20cm and BC = 14cm. A
semicircular portion with BC as diameter is cut-off. The area of the remaining portion is: /
TS S, U 3Tad ABCD & w0 # ¢ il AB = 20 T, au1 BC = 14 1. 3| vo qi & &0
# BC 916 T SIS HRT PTeT ST & | AT HIT BT &5 d e &:

1. 280cm?
2. 203cm?
3. 77cm?

4. 283cm?

Correct Answer :-

« 203cm?

8) Vinu gave a loan of Rs. 200 to Harish and recovered it at the rate of Rs. 14 per month for

twenty months. The rate of simple interest charged is: / ?ﬂﬁﬁ TR BT 200 T. BT HUT & 3R
Y 20 TG 901G 14 3. Ufd 918 F1 &3 W 910y foram | agelt 15 TruRor s &R A 8

1. 24%
2.26%
3. 16%

4. 12%

Correct Answer :-

. 24%

9) If y% of 61 + 81% of 61 = 61% of 90, then y will be: / Tf¢ 61 BT y% + 61 BT 81%, 90 BT
61% B, @ y &1 |- fe=1 gim:

1. 32
2.72
3.9

4. 15



Correct Answer :-

10) If two adjacent angles of a parallelogram are equal, what is the measure of each of the

angles? / Tfe TP THIGR IgHS & &Y T~ HIVT SRTR §, A YA HI0T BT AT T GRI?
1. 1208

2. 908

3450

4. 60

Correct Answer :-

-
« 90H

11) The smallest number by which 28812 must be divided so that the quotient becomes a

perfect square is ./ 9% BIEI A Bl G= 2 R 28812 P fauIva A W
YRTHS Yuf |1 8 ST B |

1.3
2. 49
3.14

4.2

Correct Answer :-

12) What must be subtracted from 14x> — 5x2 + 9x — 1 so that the resulting polynomial is
exactly divisible by 2x — 1? / 14x3 — 5x% + 9x — 1 # ¥ fra1 gerar we f uRumft sgug 2x - 19
gut = u & fyurfora gt sme?

1.1
2.4
3.1

4. -4

Correct Answer :-



13) What is the probability that a number selected from the numbers 1, 2, 3,...... ,15isa

multiple of 4? / TBISMT 1, 2, 3,......, 15 & Gl T AT Th HGAT & 4 BT YUIEH g4 Dt UTRAGAT
FTR?

7
1

Lii

(=
(=
o |

| e

|h.‘|

(=3
i

Correct Answer :-

1

5
14) A fine layer of gold deposited on silver ornaments is called ./ TS} & TG R STH1 I
B TP Uddll IRd Bl HETATAT 2|

1. sterling silver / T i Tid

2. silver plated /Iod wfsd

3. rhodium plated /AfsTH Aftd
4. gold plated / ot Aftd

Correct Answer :-

e gold plated / Tgof dfoa

15) Fruit juices turn bitter if exposed to open because: / el & 39 E;,a AIWAWR av—s% Eﬁ STd %
Faifa:

1. Enzymes are present in them / ITH T~SIIgH ﬁTﬂL\?{ Eﬁ?f % |

2. Oxidation of juice at room temperature takes place /B P dIIHE TR 3T BT T IHR Eﬁ?ﬂ %I

3. Micro-organisms are present in air / gd[ | Jq&H Sita IUfRyd gid % I

4. Fermentation takes place by yeast cells /ﬁ?UEFf, THR BIfResT34 gRT é|a| %I

Correct Answer :-



» Fermentation takes place by yeast cells / ﬁ?Ua:f, THR DIRBISH gRTBIal %I

16) The shape of the orbit in which a comet revolves around the sun is: / PE&T 4| \"I'ITI%T foraw

YHPg G P IRI 3R gHT 7, 1 &
1. Circular / JIBHR

2. Semi-circular / JG-JBR

3. Parabolic / TRAQI®

4. Highly elliptical / 3% %0 § IgaidR
Correct Answer :-

« Highly elliptical / 3% ®U ¥ SrHqIHR

17) A magnetic compass needle placed near a current carrying wire shows a deflection. The effect of

electric current demonstrated here is: / YTRT HdTfed 811 9Td dR & fAde @t 3% WTI HH
ot g3 faga gxifdt 31 ggi weRia fagaa um &1 yuma =1 8:

1. The chemical effect of electric current / TAGAd YRT DT IWIHD THTT
2. The heating effect of electric current / f[Agad YRT T SHEHY YU
3. The magnetic effect of electric current / ﬁ’g{qﬂ YRT T W UHIq

4. The mechanical effect of electric current / ﬁgq?r YRT BT FifADh TUTT

Correct Answer :-

» The magnetic effect of electric current / ﬁ’g’qﬂ YRT T ﬂﬁ?ﬁ'q UHIq

18) A food chain always starts with ./ TE] T A & TIY ARH gt g
1. nitrogen fixation / TSI ARETOT

2. photosynthesis / THTRT TLCIN0T

3. decay / &4

4. respiration / XY

Correct Answer :-

« photosynthesis | TeRTR] GO

19) Which one of the following statements is INCORRECT? / fradasaan Th Y Tad %?
1. Husk of coconut is made of sclerenchyma tissues. / AT BT WE@W AP I 1 Eﬁ?ﬂ %I
2. Xylem and phloem are forms of complex tissues. / SITSCTH dYUT u%hmq Sfed Sabl A a4 Ea?f %I



3. Collenchyma gives flexibility to plants. / TAYIa® Urel &) adiargd UgH HRdl gl

4. Cells of cork contain a chemical called lignin. /aﬂ%aﬁaﬁmshﬁwmm%ﬁﬁ NIVE Dol SIdl
gl

Correct Answer :-

 Cells of cork contain a chemical called lignin. /aﬁéﬁﬁﬁmﬁﬁwﬁm%%@r NIPE gl Wldl
gl

20) Name the group of animals which have haemocoel. / TF{ISﬁ & 3 HHg dI ATH ddIg¥ o
TEIRT 8 &

1. Amphibians | THpifeg
2. Pisces / HX

3. Arthropods and Mollusca / WW@W
4. Annelids / Q:na S

Correct Answer :-

e Arthropods and Mollusca / WW@W

21) Rabies is caused by the bite of . /Wﬁ_ﬁim%maﬂgl
1. dog only/ﬁﬂﬁﬁ

2. monkey onIy/ﬁl'C%W

3. cat only/mw

4, All the above /B'créjaamﬁ

Correct Answer :-

e All the above /B“crégiaamﬁ

22) A shiny brown-coloured element ‘X’ on heating in air becomes black in colour. Name
the element ‘X’ and the black coloured compound formed. / 919 ¥ TP TUPGR ‘lf\f TN BT
T X’ TH 811 IR 3 | Hran g o 81 dd X aut fAfdfa 89 ard s1a T & 9iftre &1 A qang)

1. ‘X’ is copper (Cu) and the black-coloured compound formed is copper(l) oxide (Cu,0). / ‘X’ PR (Cu) %H?ﬂ
fAftfa w1 31 &1 9 HIaR(1) SHFES (Cu,0) B

2. ‘X" is copper (Cu) and the black-coloured compound formed is copper(ll) oxide (CuO). / ‘X’ PHIIT (Cu) %H?ﬂ

fAftfa ®1a 17 &1 QS BIOR(11) HTFTSS (Cuo) B

3. ‘X' is silver (Ag) and the black-coloured compound formed is silver oxide (AgO). / ‘X’ a‘r’a“r (Ag) % SHIREIEG
HTA T BT A Rear Es (Ago) B

4. ‘X" is iron (Fe) and the black-coloured compound formed is ferrous oxide (FeO). / ‘X’ Fﬁ? (Fe) %H‘ﬂﬂﬁﬁﬁ

P T BT AT By HTRISS (FeO) B



Correct Answer :-

e ‘X’ is copper (Cu) and the black-coloured compound formed is copper(lIl) oxide (CuQ). / ‘X’ PHIAT (Cu) %H?ﬂ
At F1e 31 &1 9T BIOR(11) STFES (Cuo) B

23) CANCELLED

If X + v =5 and xy = 6. then the value Gf;—z-F liz will be: / TfE x + v=5daTxv

=5:E|’r;—2+vi2$rm?rﬁmm:

13
26
1.
1
3
2.
13
23
3.
1
2
4,

Correct Answer :-

24) It is easier to carry a suitcase by: / T% ey I X & ST ST BT &
1. Carrying it on head / RR IR o SR

2. Holding it in hand / 1Y H TSR

3. having rollers fixed on to it / 39 UX oy FRR TR

4. Dragging it along the ground / SHH W °Hie #R

Correct Answer :-



* having rollers fixed on to it / 3Y UX Ay FRR b

25) Look at the following numbers below:

(i)-(85)° (ii) (-85)% (iii)—(85)% (iv)=(-85)%°

Which of the above number(s) is/are greater than 0? / == T=maii # 3@:
(i)-(85)%® (ii) (-85)% (iii)—(85)% (iv)=(-85)%

SWied § | B d Fen/4@Iy, 0 | 71 2/

1. Only (iv)/ad (iv)

2. Only (ii)/®dd (ii)

3.(i), (ii)and (iv)/ (i), (ii) 3R (iv)

4. (ii)and (iv)/(ii) SR (iv)

Correct Answer :-

« Only (ii)/%ad (ii)

26) If radius of a cylinder is doubled, its volume is increased by: / af¢ T 3@ @1 fH=m Qi 7
3 oime, Y 39F Smaa # A Igiws) gt

1. 8 times / 8 T[T
2.2 times / 2 T[T
3.7 times / 7 AT

4. 4 times / 4 T[T

Correct Answer :-

e 7times/7 T

27) Lithosphere consists of L RaHSd H Iufd eﬁ %'I

1. air/dlY

2. land or soil / Y& T1 T
3. sky / STDPIRT

4. water bodies / ST BT

Correct Answer :-

« land or soil / Y& AT FAT



28) The cells in the root apex and shoot apex are called meristematic because: / S R

3R WRIE 2 A FIREE fAusdias! seard! § ife:
1. They help in the conduction of water and food. /a T 3R HIoH & Udiedhd H Jerdl Sl %I
2. They differentiate into different plant parts. / 3 faf¥re el & U 7 3R Bl B

3. They support the plant. /3 Uit &7 YR UG Pl 8
4. They keep on dividing forming new cells. /3 78 HIfRB13{ BT FAAT0 HA 7 AU Bt & ]

Correct Answer :-

« They keep on dividing forming new cells. /3 T8 HIR@®1ST &1 AT HRA 7 fAuIiord gt &< B

29) Which of the following is/are true when water changes into ice? / Wﬁﬁﬁﬁmm

g dfmfrfead s aa @

(i) Its state is changed from liquid to solid / SH®! ARIT % A 319 H uRafdd gl sl &
(ii) It changes smell / U8 Y ST &

(iii) It does not change taste / 98 ¥dT¢ H URkafcdd Tl glaT @

(iv) The change can be reversed / URRad I&pAd 8l APdT &

1. (i), (iii) and (iv) only / Baa (i), (iii) TUT (iv)

2. (ii) and (iii) only / dd (i) T (i)

3. (i) to (iv) / (i) ¥ (iv)

4. (i) and (i) only / ad (i) qUT (ii)

Correct Answer :-

e (i), (iii) and (iv) only / CEN (1), (iii) AT (iv)

30) Which one of the following organisms undergoes external fertilization? / ﬁ"}[\‘rﬂﬁﬁ ﬁ %\q

TP A - glar g2
1. Cat / foreett
2. Frog / Aedh

3.Hen/ H"'ﬁ
4, Goat / FBH

Correct Answer :-

. Frog/ﬁw



